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Question Number : 1 Question Id : 5471143601 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The cell theory is not applied for
S RTrodo HBoBG.

Options :

Algae



Virus

Feu
Cx,
e

Bacteria

ardeair
23

Fungi

Bdolgren

Question Number : 2 Question Id : 5471143602 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Lion is the dominating species in a forest community. This type of succession is

known as

ROF0 BLa) Noth DEOTO WK Bardd £0). & PO, (BrR) P DEDFD

Options :

Autotrophic community

e¢58¢5%08 Hoosm

Heterotrophic succession

& (D B

2. ¥



Primary succession

Mesarch succession

135 W6 RS

Question Number : 3 Question Id : 5471143603 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The greenhouse effect in the atmosphere is produced due to:

FErH8e0s® (SR (Herdo HADY 6&HE0 @HHob.

Options :

Absorption and re-emission of infrared radiation by the atmosphere

TE060 T STt Q88 (aroddo Hbdn 86A Dbhde B0
1.¢

Absorption and re-emission of ultra violet radiation by the atmosphere

FEdin0 T e8dedting H85wed) (firoito $Hbdk 86A A Bdbio
2. %

Absorption and re-emission of visible light by the atmosphere

FTHB@mo TTe SN0 5208 ([{IrosKo bty 86 dbie Jabio
3. %



Absorption and re-emission of visible light by clouds

Do TR B0 508 (HErosto Dok 86A b BhEo

Question Number : 4 Question Id : 5471143604 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Which one of the following fish that live in both marine and estuarine waters

Sdmifo 0dkn 6 Ky o ABS® B T ASkK08.

Options:
Coelacanth
Seoseod

1. %

Mahseer
H055HE
2. #

Asian sea bass

HHHS SHerh
3.

Carp

o5y



Question Number : 5 Question Id : 5471143605 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
What is the function of enzymes?
JoBHe HIB%H HWE?
Options:
To store genetic information

EESJES DA TToR) Qex BhoeDs

To regulate metabolic processes

£580H (HBhed Jcho@oserds
2.

To transport oxygen in the blood

Eﬁléﬁo@e o8 Sarer Schedd

To provide structural support to cells

Begrers R]Ub&eﬁbééé Eﬁaigéan‘ﬁ; o038

Question Number : 6 Question Id : 5471143606 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Flow of energy is
38 (Hdawadeo
Options :
Always unidirectional

JVIPEF A8 BT

1.4
Multidirectional
26TV Eﬁ*‘b’“éﬁéé
2. #
Web like
385 eroHs
3. #
Cyclic like
Secho S8
4. %

Question Number : 7 Question Id : 5471143607 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
What is the characteristic feature of Prokaryotic cell?
E=e6%BE 1S @) D8R ©Feeo AE?

Options :

1.4



Lack nucleus and membrane bound organelles

Soes8 S b EYS Fol eoedd) BEDESE0

Contains nucleus but lacks membrane bound organelles

$7es8aHR EOA Gotnod 520 Y wohHE wScharen 8.

Contains both nucleus and membrane bound organelles

Xes80HS Bt EYS Fok sTS) Bolodd) KHA totwob.

Lack nucleus but possess membrane bound organelles

$os805HS Bt 520 B8 2088 eddharoty DA &otnod

Question Number : 8 Question Id : 5471143608 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A microorganism having a complex capsid shape and double stranded DNA 15

So&g s)f eswdo oai thoh $86° &) DNA SOAS Krgdd

Options :
myxo virus

WEHIED

1. =



Papovovirus

T I8

Herpes virus

WELD FED
3.¢

Arbovirus

@5533@55

Question Number : 9 Question Id : 5471143609 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Homozygosity and heterozygosity of an individual can be determined by

68 $58 @ng) FArERRd D0k WHEFHS B0 e AawoisHy)

Options :

Back cross

eeeE (=0
1. % 5> &
Self-fertilization
?o&ﬁa—éeéaéémo
2. #®

3.¢



Test cross

L
&g [B°

Middle Cross

&S PR
4, %

Question Number : 10 Question Id : 5471143610 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which one is not a viral disease of human
DB HrIHAE® IS 56 =
Options :
Hepatitis B

THBES-D

Measles

50
€

Tetanus

HePSR



Hepatitis

PHBERD

Question Number : 11 Question Id : 5471143611 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The number of chromosomes in Drosophila melanogaster is

(EPbDer 333&:553'70@5@5&} B3t S Sogyg

Options :

8
1.4

10
2. %

12
3. %

14
4, %

Question Number : 12 Question Id : 5471143612 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Serum alkaline phosphatase is high in the blood due to

580 S0t o @@;@5 @ﬂ@@ﬁé B0 &olerl8 =80



Options :
Renal failure

OP|SROTPL PO

1. %
Increased testicular function
aﬁ;ﬁmﬂ@ 28 2Boroé

2. #
Increased osteoblastic activity
@%@”Eﬁ;%g DN BHSe

3.¢
Middle ear malfunction
Sty B HASE0

4, %

Question Number : 13 Question Id : 5471143613 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which of the following immunity is present from our birth?
Ho550 HBIHB S0l & Bod B & TK IFEE 48 sotwod.
Options :

Passive immunity

Apcd 8% 6 28

1. %



Acquired immunity

robS BB 8

Innate Immunity

DS et EE 48
3.¢¥

Active immunity

Basrede B8KQBPGE 48

Question Number : 14 Question Id : 5471143614 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
What percentage of oxygen and carbon dioxide exists in the ecosystem?

Slepelels? égé‘rg@& e8jad DO ?6&5 E0IF8)E Qo8 o eamon?
Options :
20.95% and 0.004%

20.95% s08c5» 0.004%

20.95% and 0.04%

20.95% 08 0.04%
2.



20.0% and 0.40%

20.0% 08c5w 0.40%

20.0% and 0.44%

20.0% s0Basw 0.44%

Question Number : 15 Question Id : 5471143615 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which of the following is a competitive mhibitor of succinate dehydrogenase?
SERES Aametads 8 26%ko 26
Options :
Pyrophosphate
_:5_1'“55@“?}“]&5

Malonate

heaes

Oxaloacetate

ﬁas;@‘sa%aéiﬁéﬁ



Galactose

rw;m%é-

Question Number : 16 Question Id : 5471143616 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
In an ecosystem which one of the following is a micro-consumer?
Soegites SHS° (Bod O Er-DIGFKTE D6?
Options :
Herbivores
FPSOI0E
1. %
Omnivores

RbgIEsen
2. %

Carnivores

Sroarsttoen
3. #

Saprotrophs

PSR

4.+



Question Number : 17 Question Id : 5471143617 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which of the given diseases is related to Groundnut?
BN THoS® SHESHD JSow0hodIs 6?
Options :
Phomopsis blight

0 B

1. %
Alternaria blight
00005 BES
2. % o
Ergot
el
3. % 5
Tikka
&z,
4. &

Question Number : 18 Question Id : 5471143618 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which of following is a part of Waldeyer’s ring?

TPE SodhodH HomofodHh 6?



Options :

Spleen
S
1. %
Red pulp
BEHS
2. %
White pulp
3. % &3_5@@
palatine
BB
4.

Question Number : 19 Question Id : 5471143619 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Pea plants were used in Mendel’s experiments because
Dok Ang) BArTPe® 2Tl F0Hen &5@rAotarran ool
Options :
They were cheap

©d BT Goad



They had contrasting characters

FH8 Ei}d:g@s’o oferen S0

2. ¢

They were available easily

e Dedforr wohartns® &ond
3. %

They were leap

©d O
4. %

Question Number : 20 Question Id : 5471143620 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Ecological pyramid concept proposed by

Slegialelr DBDE grHd (HBIPED AN Tvides
Options :
Charles Elton
00 WO
2t e
1. %

Ermst Haeckel

B TrES



Charles Darwin

0 TEOtR
3. %
Mendal
oS
4.

Question Number : 21 Question Id : 5471143621 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Transition zone between two ecosystems is known as

[efenS] e:’::mvéééea 5’355’3@&:' X}Jc‘,ﬂg BBIBD S5 £908To00.
Options :
Ecotyone
JSARRS
1. %
Ecotype
5B
2. ®

Edge effect

Qjé a'.‘;_a‘.)e%



Mangrove forests

S0 tayen

Question Number : 22 Question Id : 5471143622 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Trangenic tomato with Bt gene is developed to protect from

Bt asiiogsir§)d ot &°see® ang 39 ool Blohed el Jek?

Options :
Otidium neolycopersicin

2.80%0 GBS 2OVS

Phytophthora infestans

PP BRDLR)

helicoverpa (Heliothis) zea

ORI (POBFER) Qs
3.¢

Spodoptera liture

%5’3‘%@ Oéarsoe



Question Number : 23 Question Id : 5471143623 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which of the following diseases is caused by protein-energy malnutrition?

(ErS-88 Dieists 670 Sg & (Bod FHeS® DB Shos?

Options :
Tuberculosis
oo

1. %
Marasmus
aﬁ:mﬁéﬁ

2.
Angina
(ETelhei

3. =
Goiter
meonéd

4, %

Question Number : 24 Question Id : 5471143624 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Which of the following is having single stranded RNA?

Bob & BAKom DEES RNA Sokk

Options :
Poxvirus
QF’EJ D
1. %

Herpes virus

E:J'nq:l

0 I8
Adenovirus

RS [ED

Picorna Virus

W8T SR
4.

Question Number : 25 Question Id : 5471143625 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Alkaline treatment of DNA result in

DNA % g6 émgﬂ:éﬁ LD D& esthoiheo
Options:

1. %



Fragmentation

SRBoBES

Renaturation

BRORS

Denaturation

EI35HTAS

3.¢

Primary transcript degradation

B0 ErQRR DY)

Question Number : 26 Question Id : 5471143626 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which of the following cell organelles is absent in animal cells but present in a plant
cell?

Bod B 3 o wdche w0 Gerod® B 5D BN $06® eotran?
Options:
Cell wall

e 1%



Cytoplasm

Eg&ﬁ SPe0

Vacuoles

5758

Mitochondria

DeSPerol@ oS

Question Number : 27 Question Id : 5471143627 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which one of the following is essential for the photolysis of water?
DB PSEBATD (Bod B DB ©5550?
Options :
Copper

[o:Ta"

Z1nc

208



Boron

Soed

Manganese

LroidD
4,

Question Number : 28 Question Id : 5471143628 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Methylene Blue Reduction Test (MBRT) is conducted to know the efficiency of-
GOT ap 6KES BF (MBRT) 39 Gng) Poomd) BeoioE S8 Ditrosathod.
Options :
Toned milk
&S o)
1. %
Double toned milk

Send éfiﬁ% 3)09537
2. ®

Sterilized milk

BDBERS0 B2 Doew
3. %

4.+



Pasteurized milk

FEHBS e

[}

Question Number : 29 Question Id : 5471143629 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which of the following repositories is used for raw sequence data?

Bod :A8° Swd B0 BerdH ed@rhod bRwd HB?
Options :

Gene bank

£ 330505

EMBL

DDBIJ

GGPP

Question Number : 30 Question Id : 5471143630 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Spigelian lobe is present in
&2 chotdH ROHS wodsen eTow
Options :

Kidney

S0Te(SHOTEEN

Liver

S*B%0
2. ¥

Pancreas

5‘;&630

Uterus

ﬁug%ciﬁoo
4. %

Question Number : 31 Question Id : 5471143631 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

What 1s the term used to describe a genetically identical copy of an organism or a part

of an organism?

28 40 B 40 Q) o8 o akEbore aSer $08 07 JbosTIS ES@rhod

%0 n?



Options :

Reproduction
feadiosEns
1. %
Regeneration
DI
2. %
Cloning
£%0R
3.¢
Mutagenesis
& B585a0
4. %

Question Number : 32 Question Id : 5471143632 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which of the following techniques is used in DNA finger printing
DNA 908 (2080RE° & (Eob F088Y Hiked® ab ed@ERoSab0b.
Options:
Western blotting

3R] p&oh



Flow cytometry

% 25"

Northern blotting

608y erdoh

Southern blotting

$88S epBoh

Question Number : 33 Question Id : 5471143633 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

‘Which of the following is a bio-pesticide?

& Bod S® D6 EH5BMH0sHEOB

Options :
Mancozeb

- Sro8PRS
2.4-D
2,4-D



NPV

eI
3.¢
Rhizobium
Bs*Danho
4, %

Question Number : 34 Question Id : 5471143634 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The cells of the innate immune system are able to recognize which of the following?

SrebiRs BB S5 Q) Saren (Bob 86 BN HB0HeH?

Options :
antigens
- aSroBBD

pathogen-associated molecular patterns (PAMPs)

abéﬁhsbéé-‘n‘ioa:o&é 28R Tew ssraren (PAMPen)
2. ¥

foreign proteins

oy ATy
3. %



antibodies

(5885 soen

Question Number : 35 Question Id : 5471143635 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Which of the following is not having mutagen characters?
Bob TAS° B8 68)058S oferen TH
Options :
Nitrous acid

SR &DE

Caftiene

393

Nitrogen mustard

ES*BS %6

3. % A= [ F
Ascorbic acid

@%ﬂ&ﬁﬂ)g =D&
4. &



Question Number : 36 Question Id : 5471143636 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which of the following biomolecules is inseluble in water?
Bod B £ e IS 8K?

Options :

a-Keratin

o -B8oe&HS
1. %
haemoglobin
WA
2. #
ribonuclease
58553/)5‘{5{%£
3. ®
adenine
ORIS
4, %

Question Number : 37 Question Id : 5471143637 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The “green ear’ 1s which type of disease?

e Oy B THH 328 Josso



Options :

Fungal
DHoReS
1.9
Viral
@éé
2. &
Bacterial
wgacﬁﬁ
3. ®
Protozoan
(286588508
4, %

Question Number : 38 Question Id : 5471143638 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Which cell type will help in the destruction of intracellular pathogens?

B0 aﬁéﬁywééo@ 9 8o J:FchHo& pEdo rRodatsd.

Options :

T]h
1. %

T]]j



Tc Cells

Tc Beseen
3. #

Ts Cells

T5 Eegren
4, %

Question Number : 39 Question Id : 5471143639 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Which microorganism(s) among the following perform photosynthesis by ufilizing
light?
8ot 86" & "m@a‘?&}(w) o8 add@rAcEo T Sdeay SoTrHEARD
QP08
Options :
Fungi and Viruses

Bdogren HodD JsHew

Viruses

365



Cyanobacteria

SPergoore

Fungi

3dolgren

Question Number : 40 Question Id : 5471143640 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which of the following cannot be used as an adsorbent in Column adsorption

Chromatography?
8ob 8 26 T FrS (6’ arE Gl esdrhosaid.

Options :
Activated alumina

iﬁﬁééﬁé OTGDT

Silica gel

29z 8BS

Magnesium oxide

Do eB)E



Potassium permanganate

SPePRED0 a’:méoﬁﬁéf
4.

Question Number : 41 Question Id : 5471143641 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Abnormally very low levels of lymphocytes in blood is known as
80 Hoth ©8 S&5 Fowd® Do) sothtrd & ore denF?
Options:
Leukocytosis

weggef_o_éﬁs B

Lymphopenia

DoDEHDS5T
2. ¢

[eukmia

&ngééﬁadﬁ:v

Apnea

D



Question Number : 42 Question Id : 5471143642 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The tendency of an offspring to resemble its parent is known as

Hoaedo 85 $PBolo MO ¢od FEBY Y wotrdH?
Options :
Variation

SAE50

Heredity

mé‘é’aéﬁ&o

Resemblance

SR

Inheritance

290008568

Question Number : 43 Question Id : 5471143643 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Identify the correct example for mutualism

Sle2S o] £50 B B3 emrdrdes HBoSHEM



Options :
Trichonympha and termite

B5°oar Hrdckn BBenHBoren
1.9

Cuscuta and tobacco

ey g6 SoBaso enees’

2. %
Leech and buffalo
ez s0bciw 2B
3. %
Man and mosquito
$00% Hdcsn &%
4. %

Question Number : 44 Question Id : 5471143644 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Pacemaker is
DR HBE o8

Options :

SA node

SA S°E
1. %



Ventricle muscles

2588 ZoXoren
2. %

AV node
AV S
3. ®

Bundle of HIS

HIS &w¥) 2088
4, %

Question Number : 45 Question Id : 5471143645 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
In crop land insect crop pests occupy
Sotrdrerod® dtosven Hob Srogy) D oEoron.
Options :
First trophic level
o0& RS Jrow
1. % L
Second trophic level

Bo&d 25538 Jraw
2. ‘3



Third trophic level

LomES BRY @;o:::

Fourth trophic level

LD ENE :‘C’JSD:J

Question Number : 46 Question Id : 5471143646 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Sex reversal 1s recorded 1n
BoAs 88%KHK0 BAGHoH KBoSASS.
Options:
Cannabis
=Evin P
1. £
Melandrium

Soero|&aho

Hirudinaria

5B SBI5



Asterias

ST

Question Number : 47 Question Id : 5471143647 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
How many Total Molecules of ATPs are Synthesized i Glycolysis from a Single
Molecule of Glucose?

DeohRe’ o8 KpE'E DOR)0 tre af) ATP emniden Saird k.

Options :

2

36

38

Question Number : 48 Question Id : 5471143648 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Barr body is

28 Gssben

Options :
Present in mitochondrnia

DoePeeo|@asre Soth ZePH

Attached to nuclear membrane

SoBESTe8 ©EHS)N GoLrow.

2.
present in chloroplast
51_555?.1;%65 S0oePaw
3. %
Attached to golgi complex
r‘rﬂé S05H0% VHEYD Gotrow
4. %

Question Number : 49 Question Id : 5471143649 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

What 1s the name of the technique used to separate DNA fragments according to their

size?

DNA eroid a8 505700 [$5°00 3% B0HEI8 HRPAT FoS8ES Db dDA?

Options:

1. %



Polymerase chain reaction

FOLHTH B BATES

Gel electrophoresis
3S ABE°PFTDDH
2.¢ =

Protein purification

RS HEEBes

3. %
DNA sequencing
DNA &8:Qy0R

4. %

Question Number : 50 Question Id : 5471143650 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Which of the following microorganism produces Fumeric acid?

55008 SRED & (Bod FBE® D& &&)§ Bod.

Options:
Aflavus
DaPSD

1. %

2. ¢



Rhizopus nigricans

BEDHD AN

L delbrukii

L @508
3. %

Acetobacter gluconium

ARoePergEl Krs°Aado
4. %

Question Number : 51 Question Id : 5471143651 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
5-bromouracil is a base analog for
5-S TS TGI8 i) / Jetrigkn?
Options :
Adenine

QEIR

Guanine

R



Thymine

Afo LIS

Cytosine

%8

4. %

Question Number : 52 Question Id : 5471143652 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The alternate form of a gene is
233055y B0 (D&Y% BIedo
Options :
Genotype
1. % ésﬁ@@
Recessive character

B2RS (S

Dominant character

ehDE; TrS



Allele

@Qé

Question Number : 53 Question Id : 5471143653 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
In which bioremediation approach plants are used to degrade pollutants?
ey PO ShodEdmas Igud ei@rN0stos® ) adrobAdES Ao
&otnod?
Options :
Biopile

2@ DS

Phytoremediation

. pobadas

Composting
Zo¥oh
3. % =

Land farming

&5 ég;’aﬁcﬁ:o
4. %



Question Number : 54 Question Id : 5471143654 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Which is an inflammatory mediator?

DB &5 WY DKo

Options :
T cells
T-Begren
1. %
Neutrophils
: S
B cells
B-Begeen
3. %
Basophils
BADHS)
4.4

Question Number : 55 Question Id : 5471143655 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Which one of the following plant groups needs both land and water to complete their
life cycle?
Bob 06" 8> 48 I 8 TeHEAS ¢rd Hda> A Tokr KBy
B SdesPo 6?
Options :
Tracheophyta
EPEB P
1. %
Pteridophyta
B0 per
2. ®
Thallophyta

TS per

Bryophyta

BT
4.9

Question Number : 56 Question Id : 5471143656 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which of the following vitamin deficiency causes Beriberi?

Bod &S O DS %o Se TOPO S:Kod?



Options :

Vitamin B2

Do B2
1. %

Vitamin B6

Déxdoe B6
2. #

Vitamin B12

Dérdoe Bl12
3. ®

Vitamin Bl

Derdoe Bl
4.

Question Number : 57 Question Id : 5471143657 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Animal adopts a similar state like sleep to reduce their metabolic rate, it is called:
808 0 2580 Bty SPoite8 A Hob et 28D eifeoliod, BI O
NP :
Options :
Migration

DI



Transpiration

EPNTRS
2. %
Hibernating
(Treand
3.¢ "’
Habitation
Apslel
4. %

Question Number : 58 Question Id : 5471143658 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

In photosynthess, energy from light reaction to dark reaction s transferred in the form

of
8¥mezy HoBrHBoHE, S08 (5835 Kool D88 (HBIYH 48 A brdod® wbd

SobatHsos.
Options :
RuDP

RuDP



Chlorophyll
6505

ATP
A Lake

3. ¢
ADP

DED

Question Number : 59 Question Id : 5471143659 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
What is genetic engineering?
23505 woa:NBOR @od HWA?
Options:
Modification of organism’s genes

£ T edogde S8y
1.9

Modification of DNA

DNA Go¥) &0860)
2. %



Modification of RNA

RNA @n¥) S0

Modification of proteins

DA St

Question Number : 60 Question Id : 5471143660 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the following enzymes are not involved in galactose metabolism?
8ob rBE° Rerg’d AHBHE" FEHD JoFD 26?
Options :
Galactokinase

Rersfadn
EAF_

Glucokinase

SERE

2. &

Galactose-1-Phosphate Uridyltransferase

RrER-1-r ) AwdASErS)HoS
3. %



UDP-Galactose 4- epimerase

UDP- Rer§’S Q23008

%

Question Number : 61 Question Id : 5471143661 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
A Himalayan sheep breed is
PP (0o 208
Options :
Lohi

552

Gurez

oS

2. %

Nellore
e
3. ®
Bikaneri

2536



Question Number : 62 Question Id : 5471143662 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Inherent ability of a population to mcrease in number under stable age-ratio and in

favourable environmental conditions 1s known as

R0 Babiy) A8 B> eEre doEie é&?gé:er@s 28 2T DHHS NN
088 Pt aer Bendathod.
Options :
Um shaped age pyramid

Sedo espdo

1. =
Vital index
Eo¥ LrD8
2. %
Environmental resistance breakdown
HoHBee AEEE QNS
3. 8
Biotic potential
235 Bogrgd
4,

Question Number : 63 Question Id : 5471143663 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Which of the following cell organelles is called digestive bags?

Bod &S O Bw edchared ég dothen ®otrt?

Options :
Nucleus
25§ 000
1. %
Lysosomes
- SPEEen
Chloroplast
SCEN
3. %
Mitochondria
DePerol@ase
4. %

Question Number : 64 Question Id : 5471143664 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Fibrinogen plays an important role i blood clotting and is

2OSBS 8o K Seawrd® Lmgy FE Hirohiy HBA

Options :

1. %



Synthesized in kidney

Soe@Doto S0tk HoBses

Produced 1n muscle fibre

Sol880HHE" &8

Essential for zygote implantation in to uterus

Koz Ea8006® Hoasog Do (HBIDS

important in Blood transfusion

E8o SrORE® Sy P H&rotHi.
4.

Question Number : 65 Question Id : 5471143665 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Urinary tract infection is caused by

B B SoeETE e SoES WD
Options :
Coxiella burnetii

S“%JC—E'D@: EJE&&T.’:
1. %



Mycobacterium tuberculosis

D& eesBoaso tarsbEmsaR

Streptococcus pyogenes
RVBE’ER SBrBYS

3. 8
Escherichia coli

Lo dHBade 50

Question Number : 66 Question Id : 5471143666 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Which one of the following molecules would you find a codon?

Bod eHed® 98 S S Sftotrd.
Options :
Messenger RNA

oz RNA

Ribosomal RNA

B&*BS RNA



Transfer RNA

€S58 RNA

Small nuclear RNA

ﬁél@ﬁufﬂﬁh
4.

Question Number : 67 Question Id : 5471143667 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
When the food 1s directly given in the veins, it is called nutrition.
@B FGe Do s, A DseiRdo @otrd.
Options :
Parenteral
2B0e8S
1.¢
Enteral
DoesS
2. %
Intravenous
BOEPDND
3. %



Saline

285

Question Number : 68 Question Id : 5471143668 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The number of amino acids present in the protein subunit of TMV

TMV (D65 $50meS6® 60t 0D edire dogyg

Options :

58 amino acids

58 @@_355 e3Pen

1. %
200 amino acids
200 oS esdren
2. %
158 amino acids
158 @@55 e3P e
3.¢

260 amino acids

260 @@_355 eJPeD



Question Number : 69 Question Id : 5471143669 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Riboflavin is also known as

B HISH oQERT® 0trED.

Options :
Niacin

DAETRR

Lipoic acid

Oarons eHo

B12

Lactoflavin

SESCVANS

Question Number : 70 Question Id : 5471143670 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Which one of the following is not a protein?
Bod IS° PAS =0 DB?

Options :



Wool

f.%ﬁjd*a‘
1. =

Nail

%
2. #

Hair

232620
3. % 5

DNA

a0
4.

Question Number : 71 Question Id : 5471143671 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
What is the other name of Kreb’s Cycle

Eh) 28S Aw¥) 388 1 WA

Options :
Glycolate Cycle

08°8¢5 &S



EMP pathway

EMP &80

2. #

Citric acid cycle

2HBE oSPDE S0
3.

Glyoxylate Cycle

038865 285

Question Number : 72 Question Id : 5471143672 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The term ecology was coined by
2ardtno od STR) HRODS T
Options :
Ernest Haeckel

IS Tr2S

&

1.4

Herbert spencer

Eﬁﬂﬁﬂjg )96
2. ®



Reiter

6686

Perkinsmarsh

. ﬂ&&a‘nﬁl

Question Number : 73 Question Id : 5471143673 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Structural and functional unit of ecosystem is

ESjopialel) Xséé}g GwE) Jozee BT (ETEE grriin

Options :
Sere
0

1. %
Niche

S v HE
Bentho’s
Fo&S

3. ®

4, %



Nectan

IER
&

Question Number : 74 Question Id : 5471143674 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which among the following are cloning vectors?
8od T&S° §0R IEEG) HD?
Options :
Plasmids. Cosmids and Bacteriophages
@:?’aéﬁm, 55?3&5@3 olalensy w%ﬁ@%@ﬁ
1.4
Cosmids, Introns and plasmids
SRR, BOETRY B P
2. %
Cistrons and Bacteriophages
L, DS Sk EOBrHER

Mutons and cosmids

Kooty FoBA0 S,



Question Number : 75 Question Id : 5471143675 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Sweet potato is an underground structure which stores food. Where is food prepared in

this plant?

Dorithod elb eford) derd e dommo. & e eifbo A Soie

Joha%od.
Options :
Leaves
een
1.4
Root
b
2. %
Stem
selelnle)
3. =
Fruit
SHOED
4, %

Question Number : 76 Question Id : 5471143676 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



How many unusual bases are observed in a tRNA molecule?

tRNA oaHé® o) orgrden B8 KHosatron?

Options :

: |
1. %

3
2. %

5]
3.¢

0
4, %

Question Number : 77 Question Id : 5471143677 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
What is Molecular Biology?

5’)3?&)535{':}5 205resd @08 HWB?

Options :

Deals with the physical structures and processes of biological events

25 Yoserde F°aE Neplzaliuvelony B Bahes® ISl



Deals with the chemical structures and processes of chemical events

BPAHS ATeerren Bakn SFDS Soshede B8ahes® S50

Deals with the physical structures and processes of chemical events

Bardhs dognéde P88 Jooeren HBak» BBohesk NRTOR08
3. %

Deals with the chemical structures and processes of biological events

23 Joobrde Bpad RAoEren 0k BBches® NRIFPOR00.
4.

Question Number : 78 Question Id : 5471143678 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which of the following vitamin helps in blood clotting?
Bob TES® O DLWS EBo KEEQECS® JPahHEs?
Options :
Vitamin A

DETDD @

Vitamin C

DR D



Vitamin D

Deadon &
W
Vitamin K
Dérdva K
4.«

Question Number : 79 Question Id : 5471143679 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Who proposed cell theory?
Seo drodo (DEFBONS T
Options :
Watson and Crick

NS 0dkw (88

1. %
Robert Hooke
Uﬂa::ug 08
2. #
Schwann and Schleiden
LS B0 PES
3. #



Darwin and Wallace

:ﬂEﬁS BB T8

Question Number : 80 Question Id : 5471143680 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Acid rain 1s a result of:
ArRE S0 B HOSLW :
Options :
Excess amount CO»

©dE Ingos® CO,

Excess amount of NHs

NH3 cﬂaé& @68 dwndo

Excess amount of SO, and NO-

SO2 8308050 NO2 5335@_ fE o
3.¥

Excess carbon monoxide

e85y 51*353}5 3rTE)E
4. %



Question Number : 81 Question Id : 5471143681 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Metabolic acidosis is due to
£S5180DH eiHBsem0 S5 5°8w0
Options :
Lymph gland
Q508

Prostate gland

¥R Kod
2. %

Gall bladder

DFEADO
3. %

Kidney

0T SEHDOTPED
4.

Question Number : 82 Question Id : 5471143682 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Which of the following has a branched chain structure

Bob BE° (zrod BS ($%)6 80ALH
Options:
Amylopectin
- ©DS BES
Anylose
DS

2. #

Cellulose

?oﬁuﬂgé‘s£
3. %

Nylon

Question Number : 83 Question Id : 5471143683 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Common wheat is having 42 chromosomes. It is a

P e S0t 42 E*ard om Eud. & 8

Options :

1. %



Diploid

Bych &
Hexaploid
rsearond

2. v B
Tetraploid
Blerarand

3. %

Haploid
ERBY
4, % @

Question Number : 84 Question Id : 5471143684 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
What 1s Polyploidy?
FOpans @08 DNS.
Options :
Organisms with Haploid chromosomes

FPE E°RrEtHes® 085 SHen



Organisms with only one diploid chromosomes

2.8 2.8 &aponk (B°3ratSoen 50AS SHen

Organisms with multiple sets chromosomes

|, BE DG E3rst o8’ 585 SHen
3. i

Organisms with Triploid chromosomes

Baront EBr&tHes® £r85 £Hen
4. %

Question Number : 85 Question Id : 5471143685 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If the stool of a person is whitish-grey. which organ is responsible for it?
o8 8 ) Hwo BB ards ord® sol IS I eSabo e Sirion?
Options:
Kidney

éﬁﬁ;&

1. %

Liver

o HG%0



Spleen

S50

Bone

Q08

Question Number : 86 Question Id : 5471143686 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
XE[IHhOIl]DI]E] 5C Dl]_'lp 25 tl'i S causes

oG TR SPoDRD %o Senr@Easno
Options :

Blight of beans

E.S)ED}@G g&

Granville wilt

PSS S

2.¢ -
Fire blight
26 885

3. ®

4, %



Crown gall

R S

Question Number : 87 Question Id : 5471143687 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
RINA is made up of?
Bod B RNA 328° Srdrobossendod?
Options :
Adenine-Cytosine, Guanine-Uracil

ORIT-PEDT 1 MBI -cSwToRS

1. %
Adenine-Guanine: Cytosine-Thymine
@BIS-TRS: PRI -FDHS

2. %
Adenine- Guanine: Uracil-Thymine
ORISR BwBHS - DS

3. %

Adenine- Uracil: Cytosine- Thymine

, @8R8 - BRSPS - FDS



Question Number : 88 Question Id : 5471143688 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Viruses enter the plant cells through the process of

D BB o I8y Sereod®s (HaEBraw.

Options :
Pinocytosis
DSR2

1.9
Diffusion

a2
58

2. %

Osmosis
é..fﬁ‘sé?oﬁ

3. %

Plasmolysis
SRBORD
4, %

Question Number : 89 Question Id : 5471143689 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

McArdle’s syndrome 1s an inborn error of the following metabolism

5838 RolE’o @iikh Hint %608 Ki) ah O AKB% Komofodie.



Options :
Carbohydrate metabolism

odHtrorre £58a%
1.¢ .

Lipid metabolism

Ey LB
2. %

Pentosauria

Fructosauria

Biiesteleves

Question Number : 90 Question Id : 5471143690 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Which one of the following can be found in pancreatic juice?
F508rBE w~RE® Bob BE° D& EHSatoEod?

Options:

Trypsinogen

EMTES

1.¢



Proenzyme pepsinogen

@E0BS DITES

2. %
Lysozyme
SPERD

3. 33 [T [T
Amylase
OBSE

4. %

Question Number : 91 Question Id : 5471143691 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Who among the following proposed the theory of essential mineral nutrients i plants?
Bod 06", Z:\ré&&:eﬁ* ORREDR ples Pz REFOER) QS ©0BoTRD?
Options :
Carl Linnaeus

Sile] DD

[eonhart Fuchs

= ot
. E}:ﬂ;\vwa’ﬁg D)



Armon and Stout

SO 005w P
3.¢v < il

Aristotle

O RHS
(s

Question Number : 92 Question Id : 5471143692 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
What are the examples of Biopesticides
@R VYRE) B¥) eTeiSen HE
Options :
Bacillus thuringensis
ZPRYR 80ENR

1.

Aspergillus niger



Streptococcus and Pseudomonas

@aggﬁéﬁ 2805 & FrD
4, %

Question Number : 93 Question Id : 5471143693 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Identify the phosphate biofertilizer
FE £S5 DD HBoS0d
Options :
Bacillus megaterium

_— CALERISES rr&dchHo

Azotobacter beijernckii
wests® 56 BR5S
2. % Pl
Azospirillum lipoferum

@é’afﬂjago D B0

Bacillus thuriginsis

TPRYR F80BTON)R



Question Number : 94 Question Id : 5471143694 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Which of the following is a component of cell membranes?

Bob >AS® S é%:ﬁoé’sﬁ} geiio 87

Options :
Glycogen
Bs*as

1. %
RNA
IS

2. %
Phospholipid

Ly @ﬂ%&.@ﬂ&
Hemoglobin
SRS

4. %

Question Number : 95 Question Id : 5471143695 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Anti- enzymes are produced against the host enzymes by

830050 DoBoo éé@ééorw 26 cirodoz@iweodn [BDohd



Options :
Female mosquito

&85

Round worm

DOHBorv
2. ¢

Mulberry leaves

E’)Jﬁsjél e9%oen

Flowers against honey bee

83K $8T0p SorTredH Hape FEHoSHe

Question Number : 96 Question Id : 5471143696 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The following state has the highest marine fish production in India
8ob TEo rBERE0S° wERE S Do eS8 SO &ob.
Options :
Kerala

B5¢



Tamil Nadu

SBanE et

2. #®
Gujarat
rhesoee

3. %
Maharashtra
5:;35@@

4, %

Question Number : 97 Question Id : 5471143697 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The first vaccine was developed by
w58 o @@E’n&% IS8T
Options :
Louis Pasteur

eronR PO

Edward Jenner

&JES‘SQ 856
2



Carl landsteiner

8 50BN

Joseph Miester

525 036

Question Number : 98 Question Id : 5471143698 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Which of the following enzyme deficiency leads to haemolytic anaemia?

Bob =B86° O 08D o SrArAE edhasrd odilod.

- -

Options :
Glucokinase
Kr8°EI0

1. %

Pyruvate Kinase

IS BID

Phosphoglucomutase

RS 5B



Phosphofructokinase

PRSI

Question Number : 99 Question Id : 5471143699 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Lignin degrading fungi
of)ed DKo Saio 8do|gren
Options :
Clavaria
SEeTev
1.4 52
Xanthomonas

PO D

Micrococcus

DIE*EER

Streptomyces

BEDRS
4, %



Question Number : 100 Question Id : 5471143700 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
High quantities of Butyric acid is present in

285m0 3D S0 whBore e
Options :
Nutmeg

$e530h

Peanut

55565
2. #

Butter

2635
[&

Non-fermented milk

@@Gﬁaﬁ%?&@“@



